o
’@ @ % @ Phép cong 1én dén 100 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
37 +40 = 34 +25=
89 + 88 = 39+38 =
25+ 46 = 57+95=
55+ 18 = 47+ 63 =
60 + 30 = 26 +96 =
89 +99 = 95+93 =
38+21 = 85+52=
15+59 = 29 +70 =
100 + 69 = 40+ 13 =
94+ 17 = 18+9=
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Py =
’ﬁ @ % @ Phép cong 1én dén 100 (hang ngang)

Tén:__ Ngaythang: _ Piém:____
37+40="77 34+ 25=159
89 + 88 = 177 39+38=77
25+46="171 57+95 =152
55+18=73 47+ 63 =110
60 +30 =90 26 +96 = 122
89 +99 = 188 95 +93 = 188
38+21=159 85+52 =137
15+59 =74 29 +70 =99
100 + 69 = 169 40 +13 =53
94 +17 =111 18 +9 =27
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